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e Please check that this question paper contains 11 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 24 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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QT 3397 :
G) gl @vel & @4t yeT AT & |
() TE% T97 & H9RT 3% 395 qrFd ke 1@ F

(iii)  T97 G&IT 1 - 4 TI7 13 - 16 37Ia TFHIHS 97 &, 5779 Jd% H7 1 375 8 |
§9FT Yo &1 I Uk JTaFT H 57 37957 8 |

(iv) %7 &I 5- 6 3K 17 - 18 TFHIHF J97 8, [5780 J8F & 3 3% & |
Jedh &1 I GIHTIT: 60 Ieq] & 37fer 787 17 =iy |

(v) J97 GEIT7-9 3K 19 - 21 ¥} TGHIHF 397 &, 70 39% & 4 3% & |
Jedh &1 I GIHTIT: 70 Ieq] & 37fer 781 17 =iisq |

(vi) 97 G&IT 10-12 3R 22 - 24 T IHIcHS 97 &, 578 I9% & 6 3%
g | Ye9% &7 I G 100 Isq] & 37ferw 787 817 =iisyq |

(vii) I GIET TIT FIIHF &7 TNRT TIT IIEYT FT &1 T Iog FHT & SIFld
&7 few S Tifw |

General Instructions :
(i) All questions in both the sections are compulsory.
(it)  Marks for questions are indicated against each question.

(iii)) Question Nos. 1 -4 and 13 - 16 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

(iv) Question Nos. 5§ -6 and 17 - 18 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

(v) Question Nos. 7 -9 and 19 - 21 are also short-answer questions carrying
4 marks each. Answers to them should normally not exceed 70 words
each.

(vi) Question Nos. 10 - 12 and 22 - 24 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed
100 words each.

(vii) Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.
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wus A
SECTION A

1. 9 100 $HTE 3G HH hl oI fRR @@ T 30 &1 AR 3d giadt anma

T 3%, @ Tl A gnft : (e forhed gRw) !
(%) T3

(@) <30

(M T 270

(|a) T 330

When the total fixed cost of producing 100 units is ¥ 30 and the average

variable cost ¥ 3, total cost is : (Choose the correct alternative)

(a) T3
() T30
() T 270
(d T 330
2.  THhNIcHS (Teeh) AWM i Th 3SR WY | 1

State one example of positive economics.

3. fer (ffvea) orma i aftam @ | 1

Define fixed cost.
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4. 9 f9d IS (AP) fUshad gia1 8, a9 HEd 3carg (MP) : (T8 foeheq
gfm) 1

(%) oftwad Iearg % T B @
(@) oft¥d 3cdIE ¥ &Y BT 2

(M) 3fEd ITE F Mk T @
() 39w § § S oft & et @

When the Average Product (AP) is maximum, the Marginal Product
(MP) is : (Choose the correct alternative)

(a) Equal to AP
(b) Less than AP
(¢) More than AP

(d) Can be any one of the above

5. i wiT & o S 2 2 qoken S Wi & sEe qe S | 3
What is meant by inelastic demand ? Compare it with perfectly inelastic
demand.

6.  “formeh foTu 3careH fopem S <1 el THET TWETRT | 3

HAYAT
“Tehrileh < T I hrard THEAT THIATST | 3

Explain the central problem of “for whom to produce”.

OR

Explain the central problem of “choice of technique”.
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7.  3I=a¥ $hmd = Fgier 9 w2 I 3 2 39 Iiny g9y | 4

What is meant by price ceiling ? Explain its implications.

8. e a%] i hiFd AT TH T T SUHIHI I8 hdl aF HUN Toh 98 39 I i

fepat | wWlie ? eS| 4

YT
SRE IG5k 71 8 2 AARMEME dshl bl 9 fa=isamd sqrsy | 4

Given the price of a good, how will a consumer decide as to how much
quantity to buy of that good ? Explain.

OR

What is Indifference Curve ? State three properties of indifference
curves.

9. 9 UH g% sl HIUd T 4 Ufd HE U G T 5 Ufd SHIS BT 8, Al SEh
TR gfd 100 3RS ¥ St 120 $HIE &1 Sl & | qfd <l Hmd o=
gfteher hIfT | 1 gfd deeR 8 2 SR ST | 4
When the price of a commodity changes from ¥ 4 per unit to ¥ 5 per
unit, its market supply rises from 100 units to 120 units. Calculate the
price elasticity of supply. Is supply elastic ? Give reason.

10. W@ AW (FEIITd) 3R HuTd ANTd i HERdl § 3cq1geh o dgad i IId
HHATRT | 6

Explain the conditions of producer’s equilibrium in terms of marginal
revenue and marginal cost.

11. THIYHR Jiifar 6 a9 fonivan sase | s6 8@ SH- fonmar g6 qof
gfcenfar & fie et 8 ot == 2 6

AT
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Frefafaa @ aftom smems 6
(%) Ul SfEITET | BHT o T A TR IAN BigA hl T
(@) TeurtoseR § -shmd g

State three characteristics of monopolistic competition. Which of the

characteristics separates it from perfect competition and why ?
OR

Explain the implications of the following :

(a) Freedom of entry and exit of firms under perfect competition

(b)  Non-price competition under oligopoly

12.  SHRME T fITN gRT SUMRET & Hqe 6l Id a9ETsy | 6

Explain the conditions of consumer’s equilibrium using Indifference
Curve Analysis.

Qus d
SECTION B

13.  SUHIT 9% SPM & T &I TE BT B 2 1
Why does consumption curve not start from the origin ?

14. h4id Seh UHT hich U1 Hl ITASHAT i TG Tohdl & : (& fashed giw) 1
() FEle T (W ) Tt
(@) wfd gEie @ (fed W ) ser
(1) wEwR wivfoet Ele

(") =\ gfayfaar seet
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The central bank can increase availability of credit by : (Choose the

correct alternative)

(a)  Raising repo rate

(b)  Raising reverse repo rate

(c) Buying government securities

(d)  Selling government securities

15. g1 gL i gt i | 1

Define money supply.

16. T=AfaRead O @ SF-81 TSR 1™ i quTfad Hial 7 ? (F& fashew i) 1
%) g TG AT B

g) fm e

) 3Tk el

39 H § Fs TR

Which of the following affects national income ? (Choose the correct

(
(
()
(=)
alternative)

(a)  Goods and Services tax
(b)  Corporation tax

(¢) Subsidies
(d) None of the above
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17. 7T i GRS GT | AT 399 S TR Uk o S 991 999 7 ? A
TUTh T W 4 B, 1 HHIG ITHIT Ighi T Iiehe i | 3
Define multiplier. What is the relation between marginal propensity to

consume and multiplier ? Calculate the marginal propensity to consume

if the value of multiplier is 4.

18. T=faRea o & +-E sifom awqe § K H-H Aegad] ? SR ST | 3
(%) =M WA g gY i Elig
(@) %% g’ 9¥ 6l @lig
(M) TR HH @ el g S @l

HAAAT

M 3T J1d 89 W g9 I1Edideh 3T 8 JTd 9 Tohd @ 2 IHSSY | 3

Which among the following are final goods and which are intermediate

goods ? Give reasons.
(a)  Milk purchased by a tea stall
(b)  Bus purchased by a school

(c) Juice purchased by a student from the school canteen

OR

Given nominal income, how can we find real income ? Explain.

19. EHId 99T ST H HeH 0-6 3 3R rfyaee i IR 3 T 100 HUS
3 | T, 3UAM 3R F=q fG@Td §U U drferent AR I | Afe @ e
T 80 HUS B, Al 3 = Hge TR off fe@rsu | 4

The value of marginal propensity to consume is 0-6 and initial income in
the economy is ¥ 100 crores. Prepare a schedule showing Income,

Consumption and Saving. Also show the equilibrium level of income by
assuming autonomous investment of ¥ 80 crores.

58/2 8
https://www.evidyarthi.in



20.

21.

22.

58/2

T o sk <1 “affom Rorgrar” s €9 | fHer T9ETST | 4
Explain the role of the Reserve Bank of India as the “lender of last

resort”.

orehifaeil ST & 1 MU 8 ? 36 FIqUA bl A i o o U™

AT | 4
e

oy ($) T F F1 AU 8 ? 39 Tch sy | 4
What is meant by inflationary gap ? State three measures to reduce this
gap.

OR
What is meant by aggregate demand ? State its components.

gfeher HIfST (%) SR S | fHaa Tsda Icure, den (@) d1eH (IUTeH)

AN T Tohel BT 3G 4+2=6
(& sl 7)
(i) TRt SR = 6,000
(i)  WoGH qT oad 1,800
(iii) ~ SAfIard aTH 400
(iv) Tioa smcae =it 100
(v)  oATfeh Hgmal 20
(vi) T &t 120
(vii) faeett =t faa e o m 70
(viii) TS 80
(ix) oT=d oI T ITHA 50
(x) TSRl grT TR FRET AmIgH 200
xi) Tofsa e 1,000
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Calculate (a) Net National Product at market price, and (b) Gross
Domestic Product at factor cost :

(T in crores)

1) Rent and interest 6,000
(ii)) Wages and salaries 1,800
(iii)  Undistributed profit 400
(iv)  Net indirect taxes 100
(v)  Subsidies 20
(vi)  Corporation tax 120
(vii) Net factor income to abroad 70
(viii) Dividends 80
(ix) Consumption of fixed capital 50
(x)  Social security contribution by employers 200
(x1) Mixed income 1,000
23. T=faRad & o1of "y 6
(%) TSEd =T
(@) TR =Ter
(M) wrafies =T
HAAAT
FEHR] S9e o HHEiad 3evd T9EmsT 6

(%) HETGH B AT
(@) ST EHHATE S HET
Explain the meaning of the following :
(a)  Revenue deficit
(b)  Fiscal deficit
(c) Primary deficit
OR
Explain the following objectives of government budget :
(a)  Allocation of resources
(b)  Reducing income inequalities
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24, (%) fafma @ ghg o T 9 W 997G G0 | 6

(@) WTaE Gged B 91’ il STILRuT THSEy |
(a)  Explain the impact of rise in exchange rate on national income.

(b)  Explain the concept of ‘deficit’ in balance of payments.
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